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1 The relation between price elasticity, average revenue and margmal

revenuc is
AR —MR
E, = E,=————
M ®PTAR-MR @ Fr AR
MR MR
E, =——— B o=
@ FPTAR-MR @ FrPTMR_AR

A @ W, aﬂﬁﬁwmaﬁ'(ﬁmﬁwm%nww%~

1y E —_— " E T
M Fr AR My @ FPTTAR
MR MR

E,= E,=——

@ P TAR-MR @ FrTurR-AR

3 Tf the demand and cost functions of a firm are given as Q=20-P and

C=0Q%+8Q+2 then the profit maximisation level of output will be

(units)
(1 8 (2) 5
3) 3 - @ 10

uﬁ'@mﬁmn‘haﬂtmw%Q=20—Paﬂ1__ o
c=Q2+gQ+2'-€rwa_=rm, frg W W At B (s_aﬂ%)

(1 3 2) 5
(3) 3 4 10

3  The law of diminshing returns is mostly applicable to

(1) Agriculture (2) Mining

(3) Manufacturing . (4) None of these
SR WRwE @ P ofuwiya: @R e ¥

(1) < H (2) @™ H

@) fufmior ¥ (@) wREw ¥ F w5 T
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4  The earliest duopoly model was developed by

(1) Bertrand (2) Cournot

(3) Ricardo (4) Edgeworth

AR MR % w49 dew fead g fefw e wnoar 7
(1) wiws @

(3) Tt (4) usad

5 The concept of the reserve army -of labour is due to given by -

(1) David Ricardo (2) 1. 8. Mil

(3) Karl Marx (4) Bentham

s B ot et (ReserveAnny)WrﬁlﬂT{f&ﬂTTl’qT—.
(1) 3= f@el @ @ W ww Bm g
(3) @ AR B 4) FT=F B

6  Pareto optimality is achieved in —
(1) Marshall box ' (2) Edgeworth box
(3) Pareto box (4) None of these

T Sggee W T ¥ -
(1) Wit s @) wed e ¥
(G) W& sl § (4) “RE ¥ § B T

7  Determination of price through interaction of demand and supply was
propounded by : '

(1) Walras (2) Marshall

(3) Pigou (4) Keynes
ﬁ‘ﬁ@{ﬁfaﬁﬁ:m%fﬁﬁaﬁaﬁ@r‘mﬁﬁm"4-
(1) @™ @) i o

3) T @) @
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Ethical or value judgement is involved in - '

(1) General Economics (2) Normative Economics
(3) Positive Economics (4) None of these

Afw we g Pelr gt -

(1) wm afamer () ey sdae

@) wE sy (4) STdw ¥ ¥ W

9 If income increases from Rs. 800 to Rs. 1000 and the savings increase
from Rs. 80 to Rs. 120 the marginal propensity to save will be

(1) 0.20 2 5
G) 04 @ 2

aft emr T 800 ¥ weAR T 1000 & Wl qen Tod w9 80 ¥ ;AR
T 120 8 W& R w=w & @ wghy di —

(1) 0.20 () 5

(3) 04 4 2

10 A firm hopes to earn Rs. 13,310 after a period of 3 years and market rate
of interest is 10%. The present value would be

b 38 (1) 9,000 @) 10310
o (G) 9310 @) 10,000
R @ W AT ad B e e 13,310 %Al ¥ iR S oW =X
10vfosm &, @ odom qwr S —
(1) 9,000 | @) 10310
3) 9310 (@) 10,000

11 If autonomous investment increases by Rs. 100 crores and value of MPC
is 0.8, How much will be the increase in equilibrium level of income ?

(1) 800 crores - (2) 500 crores

(3) 200 crores (4) 100 crores

afe wmma R & looﬂgmaﬁqﬁgsﬁ%-eﬂ?mﬁvﬁ@#ﬁ

'uq&ro.s%ﬁﬁgﬁiamﬂsmﬁﬁmﬁq%#ﬁ?

(1) 800 %M (2) 500 s

(3) 200 s (4) 100 &= -
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12 Y T

L3

Rate of Interest

» X

0 D
Amount for money -

In the figure given above TD shows

(1) Speculative demand for money

(2) Total demand for money

(3) Transaction demand for money

(4) None of these

Y T

L3

1 5

0 m » X
LEEIKIE
e fo3 & TD avfan ¥ -
1) Tm W we uh 2) A& Fa =T
(3) T & drr Hi 4) v ¥ 4 B @

13 If K = investment multiplier, AY = change in national income, AI= change
in investment, which of the following is correct ?

. AY Al
M Al=5 @ Ry
K
(B) AY=— 4) K=Al-AY

Al
A K = Rt o, Ay =T o ¥ aRed, Ar= Rl ¥ o
B P d A e Wl e

@ a=22 @ K=1
K
(3) AY=-% “4) K=AIAY
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14
2
2
R
=4
= ~183
=
IS
IS1
0 Income

Which of the following statement is incorrect about the above
diagram ?

(D
2
3)
“

1S, shows that spending is unrelated to the rate of interest.
IS, represents that spending is completely interest elastic
Monetary policy is more effective in case of IS; and IS,.

Monetary policy is more effective in case of IS, and IS,

\ 154

| B T

1S2
IS¢

o=

I WEiay & ged H e d ¥ o ouEE W ¥ P

(D

Islw%%m,w#ﬁ@raﬂw%:

(2) IS, fmmn ¥ T =9, Tf & ¥ @ weE ¥
(3) ifE® TR IS; T IS, & AW H§ @ gWRET F |
(4) Uz NMa IS, T 1S, & T ¥ =yl ¥
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15 Ths shape of the LM curve depends on

(1) The liquidity preference curve

(2) Supply of money

(3) Both (1) and (2)

(4) The amount of consumption demand
M =% 3 ongfa Freft axdt ¥ -

(1) 9XEa gt 9% 93

@ o Rt

(3) /[ (1) & @)

(4) TUNFT mIT @ aEn

16  Speculative demand for money is inversely related to :

(1) Income (2) Money supply

(3) Interest rate (4) Investment

T wZd i B ¥ ¥ fred Rl s cad ¥ o7
) o @ TR

3) =W w @) fabrm

17  According to the new data of planning commission on poverty line, the
poverty between the years 2004-05 and 2009-10 has come down from

37.2% to
(1) 323% ) 302%
(B) 31.6% 4 298%

de o % T Yen % Qe ¥ omER, ¥ 200405 ol
2009-10 @& #eT A 37.2 fe ¥ we W ogE ¥

(1) 323% 2 302%
(3) 31.6% @) 29.8%
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18  The process of budget making after re-evaluating every item of expenditure

in every financial year is known as :

(1) Performance budgeting (2) Zero based budgeting
(3) Deficit budgeting (4) Fresh budgeting
wow B af ¥ ® W ¥ @@ w1 e #% awe o @ v
T A SR E

(1) foeaee swie (2) I sl =t
() we @ FweT @) s

19  Which country stands 18! in 2013 in the Human Development Index (HDI)
rankings of 187 nations in Human Development Report, 2013 ?

(1) Norway (2) New Zealand
(3) Australia {4) United States of America
e faem RO 2013 & ogER, 187 9% & § & @ 39 Ave Row
Yesis (HDD) ¥ wo9 WM WX & ?
m w @ e
@) e #) W e sl

20 Which of the following external agency is providing financial help for
Delhi-Mumbai Industrial Corridor project ?

(1) World Bank (2) Asian Development Bank

() Govt. of Japan (4) Govt. of UK,

Pt & 4 @ @ Tl T R ol wER TR ¥
W fodi weg wem WX W Y ?

(1) Frgw 4% ) thwa Rew @

(3) WUE THR 4 e wmr
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21

22

23

The national policy on skill development was formulated in. 2009 with
following objective :

(1) empowering women through improved skills and knowledge

~ (2) empowering persons of SC/ST through improved skills and knowledge

(3) empowering all individuals through improved skills and knowledge

(4) training selected persons free of cost

a%smﬁmwm%(zow)ﬁw@wﬁﬁmaﬂﬁn%eﬁ
(1) ¥vaT H9@ TF AW G AE@RN w1 wwhEsen

(2) WeaX WIW T T G SC qem ST & will @l G ov
(3) WEA W UE WF % BRI @ ARl @ ARGl

(4) bt @ & Frges wliew

Regression coefficient is independent of :

(1) Scale {(2) Origin .

(3) Both origin and scale (4) Neither origin nor scale
YHTEE Olie @aN el §

1) ¥ @ @ o

@) iR d A @ o ¥ T AR

Which one of the following is not an assumption for Hecksher-Ohlin theory
of International Trade ?

(1) Factors are fully employed in both countries

(2) There is a free trade between the countries

(3) Factor endowments of one country vary from the other

(4) None of these
ﬁwﬁ%aﬁﬂﬁwﬁ@aw%%mmaﬁsﬁﬁﬁ@ﬂﬁw
T ?

@) A W F wem wh Praite 3

(2) 2w F 7w g IR T |
(3) TS IW A WEY Suwerdn gEy ¥ B ¥
@) e ¥ ¥ @E T8
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24

25

26

The current account of balance of payments includes
(1) Merchandise exports

(2) Merchandise imports

(3) Invisible exports and imports

(4) All of these

A FgEd & O @W F el -

(1) =i P |

(2) s A

(3) ogyg fald @ aEa

@ ST ol

Which of the following is not a monetory measure for correction of balance
of payments disequilibrium ?

(1) Monetary expansion / contraction

(2) Exchange control

(3) External loans

(4) Devaluation

R & @ € W PEE SEgEA B gUT w1 e SuE T8 ¥7
W A bR [ sy () e s -

@) sl (4) S

Trade measures for correction of balance of payments -

(1) Export promotion (2) Import control

(3) Both (1) and (2) (4) None of these

YA Fge g%rrf % T U ¥

(1) Frefa dadw ) W P

@) | O @ 4) wiw ¥ ¥ B T

337/ ECONO_A) w0 IR (cona



3378 3378 3378 3378 3378 337A 337%

27

28

29

Duties which are levied as fixed percentage of the value of the commodity
imported or exported are called as

(1) Compound duties (2) Transit duties
(3) Ad-valorem duties (4) Specific duties

mm%ﬁﬁmwaﬁ@%wwwwﬁwwﬁﬁﬂa
WIS {FE ST W ¥ —

(1) =Hadl geb (2) U &6
(3) A I 4) T g

A case of international price discrimination in which an exporting firm
sells at a lower price in a foreign market than it charges in Domestic markets
is known as:

{I)> Dumping (2) Non Dumping

{3) Anti - Dumping (4) None of these

T Ba faiT ¥ U9 seewr ¥ el Pofie v e R
o gom ® fRelt aom § Al dhe W T ¥, wee ¥ -

(1) frw @ = wfmes

@) freg e (4) ST W ¥ HE TE

Surplus labour theories assume that -
(1) less Developed Countries are over populated

(2) the marginal product of labour is close to zero in less developed
countries

(3) labour contributes negatively to output in less developed countries

(4) wurban unemployment is high in less developed countries

i sm & fhaa g € B -

(1) oafmia 3ol ¥ softemr ¥

(2) ofrwlia AW F o @ do SaEma @ ¥ e ¥
(3) ouERIT AW ¥ 99 & SRR ¥ ARM EOEE B
(4) SIFIRERRIT 9 W el SN offuw ¥
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30  Karl Marx's historical materialism views were shaped by all of the

following except

(1) The french revolution

(2) The rise in industrial_ production
(3) Political and labour revoits

(4) Growing spiritual rationalism

ﬁwiﬁﬁaﬂﬂ,%am@%,%mw%ﬁﬁmﬁﬁﬁﬁwamnﬁ'
fremy & yaRem fpar - -

(1) »ig = witg

@) ot ST ¥ gfg
@) TR vd et fge
(4) = onemies adhar

31 In Harrod - Domar models "Overproduction” is a condition where
(1) all producers are producing too much
(2)  all producers are producing higher than the warranted level of output
t3) all producers are producing less than the warranted output
(4) where excess capacity has been created
S - SR W ¥ oy s 7 Ry ot
(D WWWWWW@%I
(2)'wﬁeﬂmmmmamﬁ%er&aswmmi%%r
3) wmmﬁmwaaﬂwﬁwﬁ%n
) v o ever P @ w3
337/ ECONO_a] 12 IR (Coned...
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32 , Capital widening (d+a+n)k
g Saving = sfilk)
CEE A
o il
=
3
85 o
-
-
=1
B
5
o
[4) T —
Capital effective labour
I'B.tiD k= IT(-

In the steady state for this solow model of economic growth' with
depreciation(d), positive labour force growth (n) and teachnological change
(a) seen in the above figure, which of the following is not true ?

(1) Output per labour is increasing
(2) The wage rate is constant
(3) Capital per labour is increasing
(4) The profit rate is constant

ot e (@rarm)*

bt THd = sfk)

v

0 TR LR k
K
R k=

AF ¥ e wofs wew B Ruy o A TR TW (d), HTRR A
alﬁﬁéqﬁi(n)@aﬁa%uﬁﬁﬁﬂ(a)ﬁﬁﬁ@ﬁmw%lﬁrﬁrﬁf%
A o HUT g W 7P

(1) Friw ofy = =3 W@ R

@) weEd w R ¥

G) Yo wf sm S% W

(@ wm w R &

357/BCONO_A 13 AL (Coned--
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33 Note "igsgiiq_g dgpg_ﬁtrhent of R. B. L should always possess the minimum

34

335

gold stock of worth -

(1) Rs. 85 crore (2) Rs. 115 crore

(3) Rs. 200 crore (4) None of these

RBI % =z S %o At Rewwr &7 wie @ &1 e ©ik TaT AT
%, Rewr 08 ¥ -

1) & 85 I @ b 15 w0

(3) B 200 HS @ e ¥ ¥ B &

For fiscal consolidation, 13t finance commission kept the ceiling of debt
burden of the union government at -

(1) 35% of the GDP (2) 45% of the GDP
(3) 40%. of the GDP 4) 50% of the GDP

TSI T ¥g, 13 & R om@m 3 %5 9w & %0 R 3 aiftresan
g o ¥ -

(1) GDP @1 35% 2) GDP & 45%

(3) GDP @1 40% 4) GDP & 50%

In Rostow's stages of growth, the drive to maturity stage -
(1) follows take off stage

(2) starts development .

(3) completes development -

(4) follows age of high ﬁiass consumption

A B dahE A omersh ¥ e dTon o -
(1) SOaT R % «E AW §

) Fem wew w6 R

() Pew T s ¥

(4) T cNUH ST B AT & (& FH e

397/KCONO_A] (MMM (Cortd..
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36

37

38

337 7RCONO_A] 15 [ IRABILI ARy (Coned...

Harrod - Domar model of economic growth is based on the -
equilibrium between : '

(1) Income generation and productive capacity creation

(2) Equilibrium between income and consumption

.(3) Equilibrium between saving and investment

(4) None of the above o
W - AW @ aiw faew Aew b & wge WX emuiRa ¥ -
(1) o o oiR Sae gem P

@) o™ R IuHE F Eged

3) ﬁ%‘rwqﬁmﬁq@q

(@) e q ¥ R

Which of the following is explained by Fei-Rains model ?

(1) The inter-relationship between the agricultural and the industrial
sectors '

(2) Growth process of the industrial sectof _
(3) Planning methods when labour is in short supply
(4) A neo-classical frame_ work of growth analysis
fre d & fewa amen wE YW Aled w0 ¥ -

1) F ud ohdfm d w o

(2) ofife & @ wgfs wiem

() s @ ol w9 2 w RbEem i

(4) dgfe fasdww @1 wo-wiifed @t

The concept of social overhead capital is given by -

(1) Hirschman (2) P. Singer

(3) R. Nurkse (4) Rosenstein Rodan
qrfs TR G @ R R ¥ -

(1) wH= () W

(3) 9. T @) IR WA

B e
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39 In Input - Qutput analysis, the technical coefficients are

(1')'---:-Nég{ﬁvei' Y. (2) None are negative
3) In&eﬁnite _ | (4) None of the above
ot — Prefe fgdwer A, qee e B Y -

M T @) wE W @

o b LT “ 3 % o

40 Who said the production would grow more slowly than population until -
people were reduced to starvation ?

(1) Adam Smith (2) J. M. Keynes
(3) R. Nurkse (4) Malthus

SR | g s & gaT F Ol W o ww B a § qed
W AN qE HEN Rhae &7

(1) tweH Rag | ) W . N

(3) oM. THY - @) Ay

41 Who is the originator of Green revolution in India?
(1) Norman E. Borlaug (2) M. S. Swaminathan

(3) P V. Kurien (4) Amartyea Sen
TR # ERa Wil @ e @ ¥

() o 5. SRwm 2) w. w. émﬁmaﬁ
@) . & Fhem @) o A

337/ECONO_A| 6 (MR {Coned...
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42
43

J

E" 44

XII five year plan aims. the agricultural growth rate at - -... .
(1) 4% pa. (2) 3% pa

3) 5% pa. 4 2% pa.

XII e e ¥ whie B gad W @ ¥ -

(1) 4% 494. 2) 3% 94 |

(B) 5% WA @) 2% A

Who gave the call for ‘Evergreen revolution' ?

() A. P. J. Abdul Kalam (2) Dr. Manmohan Singh
(3) Sharad Pawar (4) M. S. Swaminathan
ga w@ Wi @ e B fear ?

1) uw @ . omgw wA (2) s‘fqﬁﬁmm@

() ® WER 4) TH TE. e

With effect from August 11, 2012 the statutory liquidity ratio (SLR)
is -

(1) 24% ‘ @ 25%

(B) 23% @) 26%

eﬁm 11, 2012 A W Jue axwal ogue (SLR) ¥
(1) 24% @) 25% |

G) 23% (@) 26%

337/ ECONO_A] 17 o (IKTIAG (Contd--
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45 Committee on decontrolling the
by -

(1) Vijai Kelkar

(3)  Abhijit Sen

(1) R dew
(3) oficlg ¥

price of petrol and diese was headed

(2) Kirit S. Parekh _

4 C. Rangarajan
ﬂ?ﬁﬁ@ﬁwﬁﬁwﬁ%ﬁﬁﬁwmﬁﬁ%m&&=
2) f&dz @ g

4) . treE

46 The chairman of 13th Finance Commission is

(1) 8. D. Thorat
@) T S. Viayan
13¥ B omdm % aremm ¥
M w & dre
() 2 . gy

47  Blue Revolution is related to
(1) Space Research-
(3) Fisheries
A i g -
(1) s=iE gy
(3) wfee

337/ ECONOQ_A]

@)

Vijai L. Kelkar

(4) Laxmi Narayan

@)
(4)

)
()

@)
)

o . Fwar
T IR

Poultry

Drinking water

ot U
T S

HBIHARNY tContas..
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48

49

50

Due to Green revolution, which food grain had a reduced percentage in
total foodgrain production

(1) Wheat (2) Coarse cereals and pulses
(3) Rice (4) Oilseeds

T wita & IR, PO WE SERA A B9 @R & A
el S

1 W () #A o T TW

() wEw @ R

Green national accounts measure -
(1) environmental degradation in the nation

(2) national production adjusted for the negative effects on national
resources

(3) agricultural power of a nation

(4) food production capacity of a country

wa el dwiE e ¥ -

(1) W ¥ wmeRe @iy o

@ W’quﬁaﬁWW@aﬁwﬁﬁamﬂ
T IR B

() T W N vk @

@) %ﬂﬁwwﬁwaﬁ

According to 2011 census Indian population is :
(1) 112.01 crore (2) 121.01 crore
(3) 123.81 crore (4) 12457 crore

2011 @ WTWF F OEN R @ TAEEn §
(1) 112.01 %= (2) 121.01 %3S
(3) 12381 &% (4) 12457 %0

337/ ECONO_A] 19 LUTANIN (Coned...
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51

52

Which Indian city has the highest population ?
(1) Kolkata

(2) New Delﬁi_

() Mumbai

4) Chennai

e ardry st W seEEn efuwaw I% I?
(1) HiwHar |

2 =% Rt

@) =i

@) ¥

Which of the following is NOT a true feature of the work force of
India ? :

(1) Low participation ratio of work force
(2) Lower ratio of females in the work force

(3) Lower work participation rates in the rural areas compared to that
in urban areas

(4) Increase in female participation in developed states

ﬁqﬁﬁﬁamwwwﬁmsﬁaﬁﬁrﬁuﬁ%aﬁﬁaﬁ
7 -

) = g & Fer woherfan sgum

@) o9 e F el w1 g7 emuw

3) sﬁ%ﬁ#wﬁm%ﬁﬁﬁwmmﬁmﬁl
@ ﬁmaﬂﬁﬁw%maﬁﬁmﬁmﬁq%
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83 Demand for a factor is called "derived demand" because :

(1) it is derived from the entrepreneurs need for profit
(2) it stems from government policy relating to labour
(3) it emerges from the demand for the final product

(4) it is derived from long period expectations

EFl Bl AT W FATA AT HE TR & HAB
(1) TF SEF & W @ A@yEha ¥ WA BRI ¥
(2)%%3&%@?@?[%%@?3\?&%1
(3) IHW g™ afv o)y W Wi ¥ g 3

(4) & YdBEE g ¥ W B A ¥

S4  The largest source of National Income in India is :
(1) Service sector
(2) Manufacturing sector
(3) Agriculture .sector

(4) Government sector
RGN UK A BT gEd w91 @ &
(1) ¥ &

) faFmw &=

¢ o i

@ T &
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$5  Under which Article of the constitution of India is the Finance Commission
appointed by the President of India ?

(1) 279

(2) 280

1 279
@) 280
(3) 281

@ 282

56 VAT is imposed :
(1) on final stage of production
(2) on first stage of production
(3) at every stage between production and consumption

(4) directly on consumers

VAT it fear w3

(1) S®ET % ofam o1 gy

(2) SURT F ggH WO U%

() SERT R W & dw @ T W
(@) wﬁwwwmm
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57

58

59

R.B.L has modified the validity period of issued cheques and bank drafis
wef Aprl 1, 2012. The revised validity period 15 :

(1) 4 months (2) Retained at 6 months
(3) 3 months (4) No time limit

RB.L ¥ 1 o, 2012@:::%%@1%@#%.@#
Hsﬁﬁmm%iﬂé‘aﬂmmﬁ%

(1) UR HE (2)8%%11@11%%

(3) «9 W@ @ w5 wma de T

Which types of tax helps in reducing disparities of income ?

(1) Proportionate tax (2) Progressive tax

(3) Regressive tax (4) Al of these
ﬁﬁﬁ%ﬁmmmﬁmﬁwmﬁﬁwm‘% ?
(1) sguias HT @) wfesiw &

() wheml ® | @) S ¥ |

Which Bank is confined to the needs of agriculture and rural finance ?
(1) SBI 2) IFC

(3) NABARD (4) RBI

foa d% @ & PN TE T R A O e @ A ¥ 7

(1) S8l (2) IFC

(3) NABARD (4) RBI
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60  Which state has registered highest growth rate in population “during
2001-2011 among EAG states ?

(1) Rajasthan (2) Bihar
3) UP (4 MP

2061-2011%%%611@&1?%%&11&:@:%@@%@@%'
@ P -

(1) e @ feEr
© () I W @) T oWy

61 State top four states with highest population according to census 2011 :
(1) U.P, Maharashtra, Andhra Pradesh and M.P.
(2) UP, Bihar, Andhra. Pradesh and Tamil Nadu
(3) U.P, Maharashtra, Bihar and West Bengal
(4) UP, MP, Bihar and Andhra Pradesh

ST 2011 % SPER Eitte WEEEN 9 9% U 9qEd |
(1) S WY, WA, AFY WY K T wde

(2) v my, feR, arw Wu o afwg |

@) T Ry, WA, REr ot wiew dw

(4) W Wy, 77w w1y, Er ok ey wdyr

62  If correlation between X and Y is +1, the two lines of regression are

(1) Coincident (2) Parallel
(3) Perpendicular to each other(d) Merged with the X axis

G X T Y & wem wewww +1 ¥ Q& wlome Y@ @
(1) g 2) "EHER
() UF TW & wEEq (4) X s ¥ gEeq
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63

64

65

Sargent Florence's theory of Industrial Location is based on :

(1) Deductive analysis (2) Inductive analysis
(3) Both (1) and (2) ' (4) None of these
aS= e B ol s Rrar smia %
(1) P g @) e g
@ ¥ O @O @) v ¥ & B T

If the location factor for any industry is unity it means :
(1) The industry is equally divided in the country

(2) The industry is in large number in that area

(3) The industry is negligible in the country

(4) The industry is centralised in the area

uﬁwﬁmmtwwwmﬁ%qwrﬁ%wa?ﬁw
g ¥

(1) 35 F s wam w9 & faEia ¥
@) < & § sam & gen ¥ ¥
(3) -&snffati’mm%i

“) g & ¥ wgm FhE ¥

Industrial Disputes are seftled through :

(1) Conciliation (2) Arbitration

(3) Legal adjudication (4) Al of these
S Rl @ Freer b

(1) T (2) weEgRdl

@) & faEA () wWE Tl
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66 F is equal to -

67

Larger estimate of vari ance
Smaller estimate of variance

1)
(2) Larger estimate of variance

Smaller estimate of variance
Larger estimate of vari ance

()

(4)  Smaller estimate of variance

F 90&T &ar

FET TUC BB
M AT T ST

2) AT TR 3o

IR T ST
) FEAT ST ST

4 WHT T S(Rpee

r
p(r)=e™ -n—ll- 15 the formula of :
r

(1) Binomial distribution (2) Normal distribution

(3) Poisson distribution (4) None of these
p()=e™ = @ & -

() fow= e 2) T e

3) @R F (4 TR N ¥ HE
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68

69

70

In a perfect competition Demand function is Py = 3x? —20x + 5 andsupply
function P, =15+9x. Producer's surplus will be :

(1) 105 () 300
(3) 120 @) 450

ot wRrAET ¥ i BT § By = 3x% - 20x +5 T IR B & B =15+9x
IqES Af® B

a 105 @ 300

3) 120 (4) 450

If MR = 20-2x and MC =4+ (x—4)2. Find out profit maximising
output :

(1) x=4 2) x=6

3y x=16 4 x=0

IR MR = 20 -2x @41 MC=4+x-4? % @ afusas aw &
Rafy § SwE s AN ¢

(1) x=4 : 2) x
G) x=16" @ x

6

If a Monopolist's marginal revenue curve is MR = 50 - 3q. Find out the
total revenue curve :

5 50
(1) 50q->q°+c @ L 5*e
_ 2 q
5 c
@ 075a%] @) 50q-5¢2+c
IRy Tl &1 dWid o™ 9% ¥, MR = 50-5q B9 A TH AW
DIV -
5 ’ 50
(1) 50g->q*+c @) —-5+¢
27 q
5 c '
@) 0-5a*y @  50q-5q*+c
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71 The Dual of the given Primal is :

Maximise : Z=40x1+35x;

St ‘6}(1 + 4}(2 <220
3x; +10x, < 280

X1, X3 20.
(1) Minimum : C= 40y, +35y2
St - 6y +4y2 2220
3y, +10y, 2280
1, ¥2 20
(2) Minimum @ C= 220y1;l-280y2
St 6y1‘+3y2 =40
4y; +10y, 235
1, Y2 20
() Minimum : C=220y; +280y,
St 6y; +3yq =40

Vi, ¥2 20

() Minimum : C=40y;+ 35y,
St : 6y +4y, <220
3yj+ 10yq & 280

Y1, ¥2 20
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aﬁhﬁq : Z=40xl+35x2

T 6xp+4xy <220

3x; +10x, <280
X, ¥ 20.
(1) = : C=40y;+35y;
wRE™ : Gy +4yz 2220
3y;+10y, 2280
YL, Y220
(2) IwH - C =220y, + 280y,
Wi “ 6y +3y2 240
4y, +10y, 235
1, Y2 20
@) =W =220y, +280y;
Wi 6y +3y2 <40
4y;+10y, £35
1, Y2 20
(4 A9 : C =40y, +35y,
SR : Gy +dyy $220

337/ ECONO_A]
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72 The area under the standard normal curve between 7 =196 is equal to:

(1) 95 percent
{2) 99 percent
(3) S5 percent

(4) 1 percent

o A 724196 & W ﬁtaa%sr B
(1) 95 vl
(2) .99 wierew
() 5 whww
4 1 ufea

73 Out of the two types of errors in hypothesis testing, the more severe

error is :

(1) Type I error

(2) Type 11 error

(3) Both type I and type II are equally severe

(4) None is severe

TR wia ¥ A R @ gt F ¥ ofyw wehw R ¥

M FI

@ g

(3) g&laﬂrg&'na‘}a‘fmﬁﬁﬁm%‘l

(4) g @ g Ot T ¥ |
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74

75

- Which of the following reason is not relevant for our present problem

of current account deficit ?

(1) excessive dependence on oil imports
(2) high volume of coal imports

(3) heavy external commercial borrowing

(4) slow down in exports

FEm ¥ Tl O W & owe @ wwen & i P ¥ 4w oW
HOT SR ¥ 7

(1) A ol w ot Frfa
2) w0 e § s W SR
@)« W ¥ el AmiE IuR
@ Pl ¥ &0

The interest subvention scheme provide :

(1) interest free loan to farmers

(2) crop loan without any security

(3) interest rate relief on timely repayment of short term crop loans
(4) interest rate relief on all agricultural loans

e e FERe et

(1) Frarl ® & gaa ®9 & %)

@) T Rl SEEE % BE T EE S 8

() oA EEAl TN B T W YT A I
WH & ¥

(@) w.m%ma@ﬁwmﬁmmmﬁ%l
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